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02% 25 ESE] Bih 0.30 1844 02
021 25 L /HT T AI7ILE 0.08 1704 05
02% 25 L+ /HT 12 1h 0.10 1705 02
021 25 L /8T b F 0.12 1705 03
02% 25 REALL 2ih 0.18 1750 01
021 25 HE R avoy)—k 0.05 1612 04
02% 25 HEE FAI7I)LE 0.07 1658 04
021 25 B/% FAI7ILE 0.07 1658 01
02% 2 = FAI7ILE 0.07 1657 03
021 25 Cakis av9y)—k 0.15 1657 01
02% 25 BT FAI7)LE 0.08 1704 04
021 25 J\ER FAI7ILE 0.08 1659 02
02% 25 EHIS FAI7)LE 0.08 1658 03
021 25 EFHIS FAI7ILE 0.08 1659 01
021 25 H/A FAI7ILE 0.06 1657 02
021 25 /AN FAI7ILE 0.05 1658 02
021 25 PRAE EHih 0.07 1751 01
021 25 FRAE Bih 0.06 1751 02
021 25 PR 2ih 0.16 1751 03
021 25 PR FAI7ILE 0.07 1797 02
021 25 A FAI7ILE 0.12 1797 03
021 D= EIAHT Eih 0.07 1516 03
021 P SA=] £ A HT FAI7)LE 0.11 1516 04
021 D= it FAI7ILE 0.10 1564 02
021 = B FAI7ILE 0.10 1564 03
021 D= = SEHT FAI7ILE 0.10 1517 04
021 = a1 T FAI7)LE 0.12 1516 01
021 g H [l BT FAI7ILE 0.11 1516 02
021 REF —ZA&H FAI7IE 0.08 1610 01
021 ANEF —ZHl TFAI7ILE 0.07 1610 03
021 REF HWEE FAI7IE 0.07 1609 01
021 ANEF HtEE i 0.06 1610 02
021 REF HE FAI7IE 0.06 1610 04
021 ANEF 18 ¥R TFAI7ILE 0.07 1611 03
021 REF B/ E FAI7IE 0.07 1563 05
021 REF BFIX FAI7ILE 0.14 1656 02
021 REF B/ FAI7IE 0.09 1611 02
021 ANEF =15 FAI7ILE 0.08 1564 01
021 AEF BT/N 2ih 0.10 1564 04
021 ANEF BT/A TFAI7ILE 0.06 1611 01
021 ERXE =H FAI7ILE 0.22 1565 01
021 EXF B/ KA Eih 0.08 1612 02
021 ERXE )] FAI7ILE 0.08 1612 01
021 EXF %/H FAI7ILE 0.09 1566 03
021 ERF £ FAI7ILE 0.10 1613 02
021 EXF K FAI7ILE 0.15 1517 01
021 ERXE HE FAI7ILE 0.14 1565 02
021 EXF HE FAI7ILE 0.10 1565 03
021 ERXE —YA FAI7ILE 0.12 1613 03
021 EX% Kk H FAI7ILE 0.10 1612 03
021 KiF NH T AI7ILE 0.10 1703 04
021 Kz A HE FAI7ILE 0.09 1704 01
021 K 1T AR Hifh 0.08 1749 02
02% KiF T A R F 0.11 1749 01
021 KiF RO EHh 0.09 1704 02
02% K RO 12 1t 0.06 1704 03
021 KiF FHKA b F 0.06 1703 03
02% Rz = 2ih 0.06 1657 04
021 KiF = Eih 0.09 1657 05
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02%% Rz = FAI7)LE 0.08 1703 01
02%2 KiF [iic] b Fl 0.16 1795 01
02%2 KiF B/ b F 0.08 1796 02
02%2 KiF B/ L a4y )—k 0.06 1797 01
02% K = F 0.10 1750 02
02%2 KiF W/ A fibF 0.09 1750 03
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